MATH 212 WORKSHEET 5 24 SEpPT 2020, INSTRUCTOR: JiuvyA WANG

Problem 1 : Iterated Integral

Compute the following iterated integral: -4 ) xz/
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Problem 2 : Domain is important!

For all the following iterated integral:

1. Draw the domain D for the corresponding double integral,

2. Rewrite your double integral back to iterated integral with the other order.
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Problem 3 : Double Integral | v
For the following double integral: il -
1. Draw the domain and pick one order to writ
2. Compute the iterated integral;

|
4}16 double integral to iterated integral;

L [[,(142)dA; D= {(z,y): 0<2 <2 -z <y<ux}

2. [[,dA; D={(z,y):0<2<1,0<y<a}
(Q: what are you computing when the integrand is 1 7)
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Hint: can you integrate? How about changing the order as you did in Problem 27
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- J / 2
, )| == dy ox 3.
% v - x*
Y= Co
—— / -
4 -
. = (1=x) Ax
(-] I- X; '
/1 = () 2o bl |
o It¥x 5
C' Lo§ X
&f ¥ f§ M S>> o(ka/y = - —
2
V)
/
- \ . }
Problem 4 : Application l ek f Y Smix )0(3 D(X x_S_”i‘_ olx
2
Find the volume of the region between the two Surfaces z=ux+yand z = —x® — y? over hax”
D=A{(z,y):1<z<yl<y<2} 2=fuxy )
Find the mass of a metal disk with shape D cut out by two curve dy ==
where the density function is d(z,y) = 2% + y*.
/. L 2
wcf trp-rg> o 1)

J jx+x+7+/ olxab&

; -5 )4
-4, <y+y><ﬂ-'>+<g*%>'(-§t+§‘>°(‘3 g
o c ——x Y,
:j( '1 -4 - ,{7_)0&4 T OAADQ,(
(2 “"3-53)1
2 4 [




2, N \/c)‘ mass = jJ ollx‘ﬂ) o(A
uD] b:D,UD]_ ‘/}
i D AR
’ I JJ "h"’ﬂ"‘m ;jj(xv)olx Y
: B K v, 0 46
> | } X‘:n3
S b,
Xa;_
f ; 1 ,
= 3
) (’;Z - _y,r 7’ -y )alg
b 3
—L':
oo _@_l_f,;. 3,}/3‘1%1)
‘D‘ X = 5\/ 12 Jo 4 o
) N >
J ) o) dy b
13
‘ -
‘J G-+ XX A
2 3
- '(C,, XB—-XS— }-? ol)(
j 3 | )
f ¢ '°I |1
= _x____i- X _1.L1d
3 4 30 |, 3 6 3
- lo"g" L’ - ‘-7_/
- %T"f;' 3
e D Lf//y.



